11/1/21, 10:33 AM

ClassMarker/vf

Tests Edit Test

ClassMarker - Manage Test

Tests  Groups

Primary 6 Science (Term 1) - St Nicholas

Links

€ Duplicate & Print

Test Introduction

+ Add Introduction

i Delete

70 Questions (60 Points)

Test Questions 0 Test Assignments

Question 1

Section A (28 x 2 marks = 56 Marks)

Which of the following statements about fungi are incorrect?

A Fungi contain chlorophyll

B Fungi are non-flowering plants

C Fungi reply on other organisms for food

D Fungi do not need sunlight, air and Water to grow

A. AandB
B. CandD
¥ C. ABandD only

D. B,CandD only

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Multiple Choice
No

Fri 20th Aug 2021
N/A

28,775,917

P Preview Test ’ ‘

Question Bank: 12,655 Questions

Primary 6 Science » Primary 6 Science (Term 1)

https://www.classmarker.com/a/tests/test/?test_id=1800891&trk=edittest_inrow_edit

2 pts

1/51


https://www.classmarker.com/a/
https://www.classmarker.com/a/assign/groups/?test_id=1800891&trk=assign_edittest
https://www.classmarker.com/test/start/?test_id=1800891
https://www.classmarker.com/a/tests/
https://www.classmarker.com/a/tests/#tests
https://www.classmarker.com/a/tests/#groups
https://www.classmarker.com/a/tests/#links
https://www.classmarker.com/a/assign/tests/
https://www.classmarker.com/a/tests/qb/manage/?test_id=1800891&question_id=28775917
https://www.classmarker.com/a/tests/qb/manage/?test_id=1800891&question_id=28775917&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1800891

11/1/21, 10:33 AM ClassMarker - Manage Test

Question 2 Primary 6 Science » Primary 6 Science (Term 1)

Halim placed hiz new wooden banch on an empty pateh of grass in his garden.

After a few weeks, ha noted that the grass under'the bench in area W was not
GrowWing well.

Which ane of the following best explains why the grass was not growing wel?

A. The grass patch did not receive enough water
The grass patch did not receive enough oxygen
¥ C. The grass patch did not receive enough sunlight

D. The grass patch did not receive enough carbon dioxide

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,918
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Kyle wanled Lo find out if ight was needed for sseds (o germinate. Which of the
lollowing variables should he keep constant for the expedment?

The hesght of the seadlings

The temperature of the suraendings,

The amount of water given fo the seeds.
The amount of cxygen given to the seeds
The amount of ight used in the experiment.
The number of seeds used in the expariment

TMoDO® >

A. AE andF only
B,C and D only
v C. B,C,DandF only

D. A,B,C,DandF only
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Camellia used the set-up below Lo invesbgate the conditicns needed for
photosynthesis to take place. The setup was placed in a sunny garden. The
white portion of the leaf does not have any races of chlorophyll,

clear plastic bag

substance that
absorbs carbon
dimxide

Which of the following could be possible @ims of the experiment?

Whather oxygen is needed for photosynthesis to take place.
Whether sunlight s neaded for pholosynthesis to take place.
Whether chiorophyll is needed for pholosynthesis 1o take placa
Whether carbon dioxide & neaded for photosynthesis to take place.

o B o o2

A. AandBonly

C and D only
¥ C. B,CandD only

D. AB,CandD
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Roshni sed up an experiment as shown below. She recorded the nimber of
bubbies produced by the plant when the lempesature of the water was increased,

— walar

heating plate

Which one of the following graphe A, B, C, D shows how the number of bubbles
ohsenved by Roshini change with temparatuns?

Mumbar of
buit:bbes
i
.
Temperalura ("C)
v A A

B. B
C. C
D.
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Shudy the diagram bolow.
of gases in the container ower three howrs?
v A
Amourd of
gas (units)
wiaber vapoyr
e DCYGEN
3 Time (hoess)
B.
Amount of
gas (units)
GEYGEn
Iml'hm dicuide
I 3 Time (hours)
C. Amountof
s {umia)
L
carhon dioxdds
xlrﬂmgen
3 Time (s}
D.
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Arnaunt of
qas (units)
E
———— carbon diozide
—— e WATET vApour
el
3 Timez (hosurs)
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A bottle of cold juice was wrapped with several layers of cloth. After an hour, the cloth was removed
and the juice was still cold. Which of the following are possible reasons for such an observation?

A The cloth is a poor conductor of heat

B The juice lost heat slowly to the surrounding

C The juice gained heat from the surrounding slowly

D The cloth trapped many layers of air, and less heat from the surrounding is able to reach the juice

A. AandBonly
C and D only
¥ C. A CandD only

D. AB,CandD
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Jaydan conduciod an experiment with a wound-up ley soldier as shown below,
Adter a few turns, he refeased it on the floor and measured the distance travelied
by the toy soldier

Which of the following are possible aims of his experment?

A Tofind oul if the mass of the toy saldier affects the distance moved
by it

B Tofind out if the surface the toy soldier ravels on affects the distance
tranedied by it

C Taofind out ¥ the number of tums of the key affects the distance
Travedied by the oy soldier,

L  Tofind catt f the number of tuma of the key afiects the amount of
polental energy of the toy soldier

A. AandBonly
A and C only
C. DandBonly

¥ D. CandD only
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A ball was released from the highes! point of ramp P, The anow shows the path
of the ball before il wis stopped by block R

—

block R~

.

---------- - fiaor

¥ .
""""" L rIr wﬂ "i""""-' /

%;ﬂd on the path travelled by the ball, which one of the following statements is

frue

(1) ANl the kinefic anergy would be wsed up when the ball hit block R
(Z)  WWhen the ball was relessed from ramp P, it gained potential ensrgy
{3} The ball had the mos kinetic energy when it & ot the highest point of

ramg P
{4} Kinetic energy was converted to potential enargy when the ball travelsd
up ramp 4. :
A. 1
2
C. 3
v' ' D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 20th Aug 2021
Last Modified: N/A
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Study the diagram bBelow,

unpear At of Body

lungs .

hurmian circulatory ystem cortainer of water
wilth Dl dive

Three students made the following comments aboul the diagram sbove.

Melly: Biood circulates around the body just like how the Blus dye
mowas in the piand,

Caret: Blood circulates arcwnd the body as there iz o heart to
purmp the: bloed around.

Yvonne: Blood circulates around the body but the Blue dye in the
baaker only moves upwards fo the leaves and flower
fhrough the atem

Which of the following student{s) hashava made the comect statement(s)?

A. Carol only

Nelly and Yvonne only
¥ C. Carol and Yvonne only

D. Nelly, Carol and Yvonne
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Mica placed & ruler &f the edge of the table and hekd il down firmly with a tape as

shown below, She then placed an eraser near the edge of the ruler and pressed

1;: ruler down at X belore letting it go. She cbsenvad that the eraser was thrown
e rufer

tape
araser

7Ll

table

The eraser wos thrown off as @l had obtalned lls enemy from the

v A. bent ruler
B. edge of the table
C. Mica's hand place at position X

D. compressed air around the eraser

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 20th Aug 2021

Last Modified: N/A
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The diagram bebow show some fruils,

I

wing-lke struchure

Etudy the dispersal pattams of plants J and K below,

ClassMarker - Manage Test

ey —— —

= a

T
B '@;- -
F.3 = - i
= &

Ky

I] wind direction
A waler dirgction
(17 parent plant J

& young of plant J
@ parani plant K

& young of planl K

L

Based on the depesal patiem above, which of the frults belang fo pavent plants

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Jand K?
Parent plant J Parent ;:;unl: K
(1) Fruit R Fraty
@ [  FrlS Frait T
i3 FratT . Fis |
i4) Fruit U o Fruit T
A 1
¥ B. 2
c. 3
D. 4
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Question 13

The table below shows how some elociical sppliances convert electrical BBy

fo stherforms of energy.

Electrical ﬂr'nerggr_J

|
I

ClassMarker - Manage Test
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|
7]

Which ane of the following correctly identifies P, Q | R and 87

Question Type:

Multiple Choice
Randomize Answers: No

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,929

Question 14

P . a | R ]

11| Sound anergy Light energy Heal enerngy Bound enarmy
1) Scundenorgy | Hestenergy | Lightenergy | Kinetic energy
()] Heatenergy | Sound enemgy | Lightenergy | Heat energy
(9| Lightenergy | Hestenergy | Sound energy | Kinetic energy
A 1

2
c. 3
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The diagram below shows the human male and famalis reproductive syatems

female momductre d male reproductive
ystom system

Which of the fellowing statement(s) isfare false?

A Part X storas the egas

B Sperms are produced by part 5.

C The fertllised egg develops inpart T.

O The sperm usually swirs up io ferfilise the cgg at part R.
A. Conly

¥ B. AandBonly
C. CandD only
D. A,BandC only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 20th Aug 2021

Last Modified: N/A

QID#: 28,775,930
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The diagram below shows the movement of 3 ball raling down: 2 slids
byl

licar

At which point(e) is grevitational force sty an the bali?
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actions are correctly classified?

A.
[_Forcss |
T ]
D’u&h onty | [ Pulony |
= Yinging » Snapping
the wet your
clothes fingers
= Hrus c » Sitting
ihiz taath diowm
B.
@
| ]
| Push um_..l_J LF"JHDHG" J
o [
= [Cp=ning « Joggin
e car .
(R
+ Tuming a phans
door knoh
C.
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rI-

[Fom ]

[ Push anly |

—
ELLTR

= Cutting [.
using & 1he wat
peninifi clothes
= Picking iip «  Ciycling
|_ a phnﬂe
v D _
Forces
| ]
|_F‘w=h oy Full mrg.-
T

laathpasta

Question Type:

Question 17

Fressing the Prﬂ'k'lng up
fift bution a phene
= Squeeging a Chpening .|
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(n
(2)
()
4)
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Study thie elsart bakow

Cuestian A

Which ene of the following is conrect?

ClassMarker - Manage Test

Question A Question B C
. Dees | conduct
I
& H magnakic? alecticit wood
. . Dees & allow Eght {0
7
15 il fragila? ‘pass throuah? e |
Does it allow kyht fo ) )
pass th h? I5 il magnetic? makal
D“f “I o S |s it fragila? stal

Question Type:
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T apnjﬁﬂ o and T conlain substan
each syringe is sealed as shown below

S ==

BEfer mnds

The plunger in syringe T could ba
S could not be pushed in at &l

Eyringm 5

— =

Syringa T

r

Date Added:

QID#:
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Question 19

Multiple Choice
No
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| Substance X Substance ¥
{1 Air Milk
i2) Midk: Water
() Milk Sand
4| Sand N Mtk
A 1
2
v C. 3
D. 4

ClassMarker - Manage Test

ceg X and ¥ respeclively, One end of

plungers

pushed in slightly whils the plunger in ayringe

Which of the following substances are most likely to be X and Y7

Primary 6 Science » Primary 6 Science (Term 1)
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1 kg af Rowr 1|'i.5lﬂﬂEIEl'-l‘-H

Which of the follewing statement{s) about the abeve abjects iafare rue?

A The bag of leaves has & greater mass than the b of
i fowr,
B The bag of flour has the same volurs as the lmgﬂgf Iaave.;
C  The hag of flour and the bag of leaves have the same macs.
D 1habagnfhm-aslamuple-m:pac&manlmhagﬂﬂuur.
A. Bonly
v B. Conly

C. AandBonly
D. CandD only
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When a sleal ball was pushed at X on & flal table lop, & moved aiong a straighi
line shown by the arrow in the disgram balow,

The experiment was repeated with an object placed al pesifion Y. The stesl ball
then travelled along a curved path as shown by the amow below.

1;l"]-l:'lhilr.l'l?l:lI' the foliswing statemant(s) sfare explaration(s) for his cbesrvations
ove

A Gravilmtional forca causes the siee! ball to change direction
B Friclional force acts on the steel ball and causes the ball to changg
ita direchion, :

© The object at posilion ¥ i= 8 magnet and it exerts a magnets force on
the sl Ball,

A. Aonly

v B. Conly
C. AandBonly
D. Band Conly

Question Type: Multiple Choice
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Su Ann placed a magnet an ten planks of wood of differant thickness as shown

— paper clips

blowe,
magnet el
sed-up A setap B
Ehe placed the sebups above some paper oips and made the follcreving
observations, .
Mg et

sed-up &
Obsesvation: papes clips moved Observation: papsr ciips did not
towiards 1he wood: e

What conclugion culd Su Ann draw from the cheervations mada?

A. Magnetic force can only pass through wood
Wood can be used to test if paper clips are magnetic objects
C. The paper clips are made of steel which is a magnetic material

v D. Magnetic force can only pass through wood of a certain thickness

https://www.classmarker.com/a/tests/test/?test_id=1800891&trk=edittest_inrow_edit

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 20th Aug 2021

Last Modified: N/A

QID#: 28,775,937
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{-'Uur dentical flasks containing the same amount of coloured liquid are placed
imin four identical containers of water for the same period of trme. The disgram
below shows the heights of the coloured Bauids in the glass tubes afler some
tma.

waber

containar A conlainar B containar & covitainer D

Based on the reeulte above, which container of waker s the holtas?

A. Container A
v B. Container B
C. Container C
D. Container D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 20th Aug 2021

Last Modified: N/A

QID#: 28,775,938
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EuH:sE,T,Umd'u'u.wannnmmdharﬁddennimﬂuraphsu:m;atshum
bedow. ARl the fght bulbs Iit up when the sircuit was closed.

| 4 if J
& &7 ;:—uplasﬁ-:hm

e

The tabie below shows what was cbeerved when one ight bul was removed

from e cincuit.
- Bulk removed Buibis) lit
5 T. U and W
i T e
L 5, TandV
W none |

¥Which one of the following comectly shows how the bulbs are connected in the
plastic box?

EET B S S - ———
e W B e

Bo e e ey y B 5 e B RS
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Fri 20th Aug 2021

Last Modified: N/A

QID#: 28,775,939
Question 24 Primary 6 Science » Primary 6 Science (Term 1) 2 pts

Iﬂl:lmullnﬂ of waler was peurgd info sach contaner &, B, G and D as shewn
below, -

All four containers wera placad under a tan for a day. A1 the end of the day, the
amount of water i2ft in each container was messured and recorded v 3 bai

graph. '
Wihich one of the fallewing graphs shows the results?

A.
Amount of water laft
in conkgineres (mil
3
N - -H A c O Confaimer
v B
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amount of water lefi
in containers (mil}

SR

E,

A,

A

X

£
pL)

—

il B ©C D Coniainer

Amount of waler k=B
in confaingrs (ml)

jl&

B G D Contaimer

A

D Amount of water lefi

in conlainsrs (mi)

G 0 Container

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,940
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Sludy the sat-p balow,

tabile kEmp

— m o BCIEEN
e
shadow

Different samples of cloths A, B, € and D were placed in front of the lamp one
at a time. The shadows observed on the screen were recorded i the table
bedow.

cloth sample

Shadow ohserved

Cloth an the serean

Which of the above cloth is mest suitable for making cutains 1o biock out all

sumilight?
A. A
. B
¥ C. C
D. D

Question Type:
Randomize Answers:

Multiple Choice
No

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,941
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Pema connected & cirouit cand to a circuit tester in her exparimeant.

S i sl
*—i
circus cord AE &F
-
e aH circuit tester
She recorded the results &3 shown in the {able below.
Peints joined to the cirsuit tester Did the bulb light up?
Cand D Mas
O aned H o=
Camd E Yes
Gand F My

Based on the resulls i the lable above, which one of B circuil cards shows the
conneclion of wires comectly?

v A
-‘\n
E LAS
w3 H
B.
-
[ ——— AL
sE F
G H
C.
) [D\
E E
LEd wi
D.
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 27

Multiple Choice
No

Fri 20th Aug 2021
N/A

28,775,942

ClassMarker - Manage Test

Primary 6 Science » Primary 6 Science (Term 1)

Study the set-up balow, The: hallow tube was rotaked in diffarent posiions 1o casl
differant shadesws an the screen

light eource

g

hodow tube

-

Which of the followings shadow(s) Iefare not possible to b cast an the screan?

A B
Yo : _ -
|
A. Donly
A and C only

C. BandConly

B and D only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Multiple Choice
No

Fri 20th Aug 2021
N/A

28,775,943
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Question 28

recorded

Primary 6 Science » Primary 6 Science (Term 1)

Sludy the s8l-Up below. The waler jn comtaingrs 5 and T i
X ware poured indo
containes U as shown The temperature of water in container Ll was then

water waler

What s the likely termperature of the water in container 5, T and LT

Temperatura of water [°C)
Container 5 Container T Container U
(1) 5 An B |
3} 16 75 20
(4 80 ' 20 a0
A 1
v ' B. 2
C. 3
D. 4
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,944

Question 29
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Jia Ling tried fo cut 3 plece of fried chicken using a plastic knife. As she was aiblng
tha chicken, the knife booka.

plzatic Knils

ried ehicken broken part of

:: H plaslic knife

Jia Ling then used 2 knife made from material B, This me, the knife did not beak,

{a} HBased on the observation above, compare the strength of the two kefees  [1]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,949

Correctly answered feedback

The knife made from material B is stronger than the plastic knife

Incorrectly answered feedback

The knife made from material B is stronger than the plastic knife

Question 30 Primary 6 Science » Primary 6 Science (Term 1) 1 pt

b) Suggest a possible material for B

Accepted answers:

v metal

Question Type: Free Text

Date Added: Fri 20th Aug 2021

Last Modified: N/A

QID#: 28,775,985

Question 31 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Sally put some frozen fish balls and some noodies at room emperatiune into 3 matal
pot eontaining hot soup

noodles in soup

hieal sburce

Thwea minules later, Sally m-uul one Feh bad and fourd (hat the temperatrs al
the eantre of this fish ball was lower than the soup.

{a) Give a reason foe ez obeervation abowa [}

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,950

Correctly answered feedback

The frozen fish ball was not put in the hot soup long enough. The fish ball did not gain enough heat
to melt the ice in the center

Incorrectly answered feedback

The frozen fish ball was not put in the hot soup long enough. The fish ball did not gain enough heat
to melt the ice in the center

Question 32 Primary 6 Science » Primary 6 Science (Term 1)

b) What could Sally do to ensure that the fish ball has the same temperature as the hot soup? Explain
your answer

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,951

Correctly answered feedback

Sally can let the fish balls boil in the hot soup longer, so that they will be able to gain enough heat
from the soup and conduct heat to the inner part of the fish ball

Incorrectly answered feedback

https://www.classmarker.com/a/tests/test/?test_id=1800891&trk=edittest_inrow_edit
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Sally can let the fish balls boil in the hot soup longer, so that they will be able to gain enough heat
from the soup and conduct heat to the inner part of the fish ball

Question 33 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) Sally was careful to ensure that the bulb of the thermometer did not touch the bottom of the pot while
measuring the temperature of the soup. Give a reason for this.

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,952

Correctly answered feedback

By doing so, she will measure the temperature of the bottom of the pot. Not the temperature of the
soup

Incorrectly answered feedback

By doing so, she will measure the temperature of the bottom of the pot. Not the temperature of the
soup

Question 34 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

i, Rai Ling placed an object between & torch and a screen & shown below.

distance behween
toreh and obgect

=

tarch object

ECreen

She: moved the object nearer to the torch and recarded the length of the shadow on
the aeraen in the fable below,

Distance between torch and object | Length of shadow
i () i fem)
30 1"
20 7
10 20 i
5 24

i@} From the results shown abiova, what ig the refationship betwean the kength of
the shadow and the distance between torch and object? [1]
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Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,953

Correctly answered feedback

The longer the distance between the torch and the object, the shorter the length of the shadow

Incorrectly answered feedback

The longer the distance between the torch and the object, the shorter the length of the shadow

Question 35 Primary 6 Science » Primary 6 Science (Term 1) 1 pt

b) Based on the results shown in the table, what is the length of the shadow and the distance between
the torch and object?

Accepted answers:
¥ 19cm

¥ 19.¢cm
v 19

Question Type: Free Text

Date Added: Fri 20th Aug 2021

Last Modified: N/A

QID#: 28,775,986
Question 36 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

The: diagrarm below shows a shadow cast on fhe screen

et X

shadow of the abjoct

{c)  Explain wiy part X of the shedow is lighter than gt Y of the shadow

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,954
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Correctly answered feedback
Part X is cast by a translucent part of the object but Part Y is cast by the opaque part of the object

Incorrectly answered feedback
Part X is cast by a translucent part of the object but Part Y is cast by the opaque part of the object

Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Question 37

Samuel had fwo nails E and F He used a bar magnet and stroked nail i
| haad E 60 i
in the direction as shown below, He then repeated the process with nad F, e

.'__‘_\_E

nail E e
)

Samued placed the nails near some iron pins and obssrved that nai F &t '
pins but no pins was altractsd to nail £, ; : ractes 10

(a) Give a poselble reason why nail E was unable to attract any pins. [1]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,955

Correctly answered feedback

Nail E was not a magnetic material

Incorrectly answered feedback

Nail E was not a magnetic material

Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Question 38
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Samuel continued fo stroke nall F with the same magnet and recordad the number
of pins rail F can attracl, The results are shown in the table below

| Number of strokes | ~ Numbor of pina
| E adractsd
First 50 10
addilional 10 o
additional 10 ]

ib)  Based on the results, what could Samusl have done differantly this fime
round? (1]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,956

Correctly answered feedback

He could have stroked the nail in the different direction

Incorrectly answered feedback

He could have stroked the nail in the different direction

Question 39 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

A Tloatng' oy ks ahown Bebow,

soUth-aeaking pola
A magnet is aftached at part X of the foy to snable i to foat’,

(ch  Based on the diagrarn above, what could be the pale at poirt X of the oy 1]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,957
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Correctly answered feedback

South-seeking pole

Incorrectly answered feedback

South-seeking pole

Question 40 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

¢) What changes can we make to the toy if we want it to float higher?

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,958

Correctly answered feedback

We can use a lighter toy

Incorrectly answered feedback

We can use a lighter toy

Question 41 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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loanna pasted & MM onto & ghass window & reduce the amount of sundight entering
a raom. Disgram 1 shows some air bubbles irapped befween the film and the glass

wirniow afier pasiing.
gliss
1. Ghass window
..9*'._:_
auright
air bubbles o 3
trapped babaan 2
fdm and giase F
window A
enlarged side view

.
-H"-
A
v
became higger i
y
.-,-
anfnged side view
diagram 2
{8} Eaplain why lbe= air bubbles became bigger in diagram 2 [
Question Type: Essay
Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,959

Correctly answered feedback

The heat from the sun caused the air bubbles to expand

Incorrectly answered feedback

The heat from the sun caused the air bubbles to expand

Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Question 42

b) Joanna used a small pin to poke a small hole on the film where the air bubble is. Suggest why this
will help her to prevent the air bubble from getting bigger

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,960
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Correctly answered feedback

The air in the bubble would be able to escape

Incorrectly answered feedback

The air in the bubble would be able to escape

Question 43 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Susan sot up an experment o study the rate of evaporafion of water. She prepared
3 upaqﬁlpmsti: lids with different number of holes that were of the sarme sz a5
showm below,

Ed C
She then placed each plastic bd over a beaker of water as shown below, The sei-
ups were then left nest fo a window far theee days

dg - - lid

{al In which set-up would there be the keast amourt of water at the end of the
expernment? Ghve & reason for your answer, [#]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,961

Correctly answered feedback

Set-up C. It has the most hopes in the lid, thus the water has not the most exposed surface area
and hence the water will evaporate at the fastest rate

Incorrectly answered feedback

Set-up C. It has the most hopes in the lid, thus the water has not the most exposed surface area
and hence the water will evaporate at the fastest rate
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Question 44 Primary 6 Science » Primary 6 Science (Term 1) O pts

Susan observed that there were water droplets formed on the inner surfaces of the lids.

b) On which lid would she observed the most amount of water droplets formed. Explain your answer

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,962

Correctly answered feedback

Lid B. It has the least holes and hence the biggest surface area for condensation to take place

Incorrectly answered feedback

Lid B. It has the least holes and hence the biggest surface area for condensation to take place

Question 45 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) Explain how water droplets were formed on the inner surfaces of the lids

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,965

Correctly answered feedback

Water vapour in the beaker loses heat to the cooler inner surface of the tubs to form water droplets

Incorrectly answered feedback

Water vapour in the beaker loses heat to the cooler inner surface of the tubs to form water droplets

Question 46 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Section B(44 marks)

W -

/ .

The diagram below shows the different stages of growth ol organdasmn #

A B G B

() Identify part ¥ in the diagram above and state its function

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,963

Correctly answered feedback

Part X is seed leaf. It provides food for organism Y.

Incorrectly answered feedback

Part X is seed leaf. It provides food for organism Y.

Question 47

Match the options below:

by wiriting the stage lettars A, B, C or D in tha table balow.

r_ Stage | mass of part ¥ {units)
Clue Match
A 23
C 1.6
B 21
D 1.2

Question Type: Matching
Grade style: Full points if all answers are correct
Shuffle Mode: Shuffle Matches Only

https://www.classmarker.com/a/tests/test/?test_id=1800891&trk=edittest_inrow_edit

Primary 6 Science » Primary 6 Science (Term 1)

Mariam measured and recorded the mass of part Y as the ssediing Goes
through the stages A fo D abowe. Maich the stages o the comesponding mass

(1]

1 pt
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Date Added: Fri 20th Aug 2021

Last Modified: N/A
QID#: 28,775,989

Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Question 48

c) What would happen to Part Y in stage D after some time? Explain why.

Question Type: Essay
Date Added: Fri 20th Aug 2021

Last Modified: N/A
QID#: 28,775,964

Correctly answered feedback

Part Y will drop off from the young plant as the young plant has leaves to make food

Incorrectly answered feedback

Part Y will drop off from the young plant as the young plant has leaves to make food

Primary 6 Science » Primary 6 Science (Term 1) 0 pts

Question 49

The diagram below shows the blood flow in one section of the small intestines,

=Ea

path of digesied fond
nka Bloodsiream

1
]
S i i

5

bicod flowing

hlood flowing lowards
towarde the bz

the intestines
ciags-settion of the small inkestines

[2) State the difference between the amount of owygen present in the blood
vessels at & and . [

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,966
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Correctly answered feedback

Blood vessels at A contains more oxygen than blood vessel C

Incorrectly answered feedback

Blood vessels at A contains more oxygen than blood vessel C

Question 50 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

b) Give a reason why it is important for the walls of the small intestines to be made up cells with very
thin walls

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,969

Correctly answered feedback

A very thin wall allows the digested food to be absorbed faster by the blood and be carried into the
bloodstream

Incorrectly answered feedback

A very thin wall allows the digested food to be absorbed faster by the blood and be carried into the
bloodstream

Question 51 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) Other than transporting oxygen and food to other parts of the body, state another function of the
circulatory system

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,973

Correctly answered feedback

The circulatory system also transports carbon dioxide to other organs for removal from the body

Incorrectly answered feedback

The circulatory system also transports carbon dioxide to other organs for removal from the body
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Question 52 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

James inade a oy car 25 shown beloe

rulbiber band

wheals

dames turned the propefler a few times end released the to |
y om the flocs. | maoved
across thit ficor before coming o a stop

(gl Whatwas the source of enengy that enablad (ha boy bo o ' 1

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,967

Correctly answered feedback

The rubber band

Incorrectly answered feedback

The rubber band

Question 53 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

b) Why did the toy eventually come to a stop?

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,968

Correctly answered feedback

All of the kinetic energy was converted to other forms of energy

Incorrectly answered feedback

All of the kinetic energy was converted to other forms of energy
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Question 54 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c¢) Using the same set-up, what could James do to make the toy car move further? Explain your answer

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,970

Correctly answered feedback

Turn the propeller a few more time. The rubber band would possess more elastic potential energy,
which is converted into more kinetic energy, hence the toy car can move further

Incorrectly answered feedback

Turn the propeller a few more time. The rubber band would possess more elastic potential energy,
which is converted into more kinetic energy, hence the toy car can move further

Question 55 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

The diagram below shows Sidal tuthine generators which use water currante in th
B84 10 um 1he blades of the tubines to generate eleciricity,

L) Wite down the energy conversion which took place in a fidal turbine gensrator,

[1]
anargy from energy from ~ Energy ERErgY
the water the: turbine _ A
cuUrrents e e fattr
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Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,971

Correctly answered feedback

@—H kinetic — 4 heat —» electrigi

Incorrectly answered feedback

@—}T.. kinetic — heat — electrig,l-

Question 56 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

b) The blades of the tidal turbine generator is usually made of a lighter material. Explain how this will
enable it to generate more electricity

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,972

Correctly answered feedback

The lighter blades require less energy to rotate

Incorrectly answered feedback

The lighter blades require less energy to rotate

Question 57 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) State one advantage of using renewable energy sources to generate electricity

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,974

Correctly answered feedback

conserve non-renewable resources
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Incorrectly answered feedback

conserve non-renewable resources

Primary 6 Science » Primary 6 Science (Term 1)

Question 58

Chee Yong caried out an experment with three similar atraws A ¥ and 7 of
diffecrent lengths. He put 3 paper ball into the straw and blew it whis hoking e
straw horizontally. He then messured and recorded the distance movad by fhe
paper ball afier each tny.

HE nasiulls aoe shown Bl

Distance moved by paper ball [cm)

siraw X l etraw Y straw £

(tength =30 cm) | (length =20 cm) | (length = 10 cm)

1=y 130 8 7
2 try 135 95 78
¥y | iz 8l 75 ]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A

QID#: 28,775,975

Correctly answered feedback

The longer the straw, the further the distance moved by the paper ball

Incorrectly answered feedback

The longer the straw, the further the distance moved by the paper ball

https://www.classmarker.com/a/tests/test/?test_id=1800891&trk=edittest_inrow_edit

(a) Basedonthe results above, what can you conclude aboul the distance mowed
by the paper ball and the length of ihe straw? )

i
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Question 59 Primary 6 Science » Primary 6 Science (Term 1) O pts

b) What is/are force(s) involved in the experiment above?

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,976

Correctly answered feedback

Gravity and friction

Incorrectly answered feedback

Gravity and friction

Question 60 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) Explain why the same paper ball must be used for the experiment

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,977

Correctly answered feedback

To ensure that the distance move by the paper ball is sole due to the length of the straws and not
the mass of the paper balls

Incorrectly answered feedback

To ensure that the distance move by the paper ball is sole due to the length of the straws and not
the mass of the paper balls

Question 61 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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Hiusa "l"-::_m;g e&l up an expaiment shown below

contasmer cowersd with black
paper containing a polted plant cordalner sovered
and a carhon diveds s=nsor with Iracing paper

carbon dioxide
/ SERsoT

"\

detalegger : " datalogger
set-up X - sat-up ¥

[a) Dhesoribe the conlral sebup needed Tor his axperdment, [1]

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,982

Correctly answered feedback

a carbon dioxide sensor inside a clear container with a datalogger and a potted plant.

Incorrectly answered feedback

a carbon dioxide sensor inside a clear container with a datalogger and a potted plant.

Question 62 Primary 6 Science » Primary 6 Science (Term 1)

b) What could be possible hypothesis for his experiment?

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,983

Correctly answered feedback

The amount of light receive by the plant affects the amount of carbon dioxide in the container

Incorrectly answered feedback

The amount of light receive by the plant affects the amount of carbon dioxide in the container

https://www.classmarker.com/a/tests/test/?test_id=1800891&trk=edittest_inrow_edit
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Question 63 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) Explain how Hua Yong can use the set-ups above to measure the rate of photosynthesis

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,984

Correctly answered feedback

Plants need carbon dioxide to photosynthesize in the presence of light. Hence, with less carbon
dioxide would be left in the container when more light is received by the plant as the rate of
photosynthesis is faster

Incorrectly answered feedback

Plants need carbon dioxide to photosynthesize in the presence of light. Hence, with less carbon
dioxide would be left in the container when more light is received by the plant as the rate of
photosynthesis is faster

Question 64 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

What variable(s) did he change?

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,948

Correctly answered feedback

The transparency of the container

Incorrectly answered feedback

The transparency of the container

Question 65 Primary 6 Science » Primary 6 Science (Term 1) 0.5 pts
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The diagram below shows how a frut s form
- % bowmed Trai Bha Sower £ -
beten cut epen, f 0. The fruil has

fruit £
(8)  Stale processes S and T. (1]
Process &:
Accepted answers:
v pollination
Question Type: Free Text
Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,987
Question 66 Primary 6 Science » Primary 6 Science (Term 1) 0.5 pts
Process T:
Accepted answers:
v’ Fertilisation
Question Type: Free Text
Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,988
Question 67 Primary 6 Science » Primary 6 Science (Term 1) 0 pts
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The picture shews an crgansm B, interacting with flows: O

. OFJ@nIsm B

{b)  Describe how organism B halps in process &,

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,978

Correctly answered feedback

After organism B flies to power Q for nectar, its body will carry pollen grains from the anther and
flies to another flower. As a results pollen grains will land on the stigma of the same type of flower
and pollination takes place.

Incorrectly answered feedback

After organism B flies to power Q for nectar, its body will carry pollen grains from the anther and
flies to another flower. As a results pollen grains will land on the stigma of the same type of flower
and pollination takes place.

Question 68 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

c) State the part of the flower that X developed from.

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,979

Correctly answered feedback

The ovules

Incorrectly answered feedback

The ovules
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Question 69 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

d) Fruit Q tastes sweet. Explain why new plants grown from part x will also bear sweet testing fruits

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,980

Correctly answered feedback

The nucleus in part x from the parents plants are passed down to the next generation

Incorrectly answered feedback

The nucleus in part x from the parents plants are passed down to the next generation

Question 70 Primary 6 Science » Primary 6 Science (Term 1) 0 pts

e) Process T also takes place in animals. Describe what happens during process T in animals.

Question Type: Essay

Date Added: Fri 20th Aug 2021
Last Modified: N/A
QID#: 28,775,981

Correctly answered feedback

The nucleus of the male reproductive cell fuses with the nucleus of the female reproductive cell

Incorrectly answered feedback

The nucleus of the male reproductive cell fuses with the nucleus of the female reproductive cell
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